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+ Typical vertebrae have a body and an arch, and the body is larger than tl?f/

arch because 80% of the weight is carried by the body.

At the same time, the size of the body increases as we go down, for v N A

example the bodies of the cervical vertebrag are smaller than the bodies of —— 2 Cc(-u cq ‘ ! '] J,OV\ ol - S qc(b{ w
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the/head, while the thoracig/vertebrag/re holdjrg the head afid the’upper | (
bs , the/lumbar vertebpae are holding the ffead, the upper limbs and the I3 N
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The arch posteriorly is composed of:
* two pedicles which connect the body to the arch.
* 2laminas .
+  spinous process
* transverse process
+ facet joint (inferior and superior)
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just know that there are multiple layers, and that they could work
CM al V\] between vertebrae, on segments or on the whole vertebral column.
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